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Trigonometry Test - Mr, Milanov

Question 1
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. Determine @ correct to the nearest minute.
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Question 2

sin @ = 0.6782 (correct to 4 decimal places)

To the nearest degree, anglé 8 can equal:
a) @only 43°
b) @only 137°

c) O43° or 137°

Questioﬁ 3

Determine the vaju/e of y correct to one decimal place.

y= Ej (t% decimal place)

Question 4 -

Calcutate e value of y correct to ane decimal place.

y=[_ "] to1 decimal place)



Questior 5

Fom

Calculate the size of angfe 8to the nearest degree '

Angle 6 = D ((g‘nearest degree)

Question

2 -1
In triangle PQR, sin ® = 2,'sin P =4 and p=12cm.

What is the value of g7

g=[__Jom

v

& Question 7
In triangle ABC, AR = 13 cm, AC = 12 om and AB 53.

The size of £C to the nearest degree is;

a) Q60
b) ) 60° or 120°
¢) ©133°
d) ©47° or 133°

Qg Question 8

12
if cos A = 13, determine the .e&jct length of BC.

Be=Y [Jom, ..




" Questions . ' ' C
In a triangle, one side is 22 cm long and the angle opposite is 65°. .~

What is the size of the/angle opposite a side of 19 cm? .
. e

. —
- -
a) ()52° : e
b) @128° /
- ) @52° or 128° : \
Question 10

From an observation tower, Moimt Anderson is 23 km away on a bearing of N23°E.
From the same tower, Mount Wilmont is 19 km away on a beating of S55°E.
How many kilometres is Mount Anders/gn/from Mount Wilmont, carrect to one decimal pface?

Distance between mountains = L__—_] km (to one decimal place)

" Question 11

A park ranger in a tower spotted a bush fire in the direction S40°E. Seven kilometres to the east of the tower, another
ranger saw the fire in th?rectlon S30°W.

How far is the fire from,the tower to two significant figures?
Distance = [j/é(to 2 significant figures). ‘
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Calculate the area of this tri_aﬁg[e to the nearest square kilometre. ;

5 ,
Area = E] km? (lohearest sq km) ‘\

Question 13 <
i S

”

The area of the triangle is 38 m%.

18 em

What s the area of thig/quadrilateral to the nearest square centimetre?

Area={" | cm®{cormect to nearest cm?)

Question 15
in AABC, a =20 ¢m, b=32cma,rﬁic=45cm.
Determin_e the size of the largeét angle to the nearest degree.

Largest angle = [ |° (tryhearest degree)
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Question 16

" Granville is 437 km from Wentworth on a bearing of 125°.
Pittown is 1090 km from Wentworth on a bearing of 084°.

~ Calculate the distance from Granville to Pittown to the nearest kilometre.

Distance = [:] km ynearest km) o I

/

Question 17

Sam walks 4.5 km along a straight bush track, then turng 40° and walks a further 3.8 km in a straight line.
How far is he from his starting point? 7

Answer cprrect to 1 decimal plag

Distance from start = E{}m (to 1 decimal place)

I
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Question 2 &0, Lablg
sin @ = 0.6782 (correct to 4 decimal places)
To the nearest degree, m:m_m 8 can equal:
a) @only 43°
b} @onky 187°
c) @43° or 137°
Question 3
2o 22157 —23BxS Ces 42
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Y= 34204
34
Determine 5%. e of y correct to cne decimal place.
y={3-4] {t¥ decimal place)
~y
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Calculate Ye value of koo:,onn. to one decimal place. 4 b .4

Y=l & ] (to 1 decimat place)

Question §

o B
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140

cos™ (- 47 g
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Calculate the size of m:m‘w 8 1o the nearest degree.
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Question 6 12 Q_\ \d.\m.l\
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In triangle PQR, ﬂ:‘_o\ﬂm_m_ nP= 4 andp=12 cm. g \
- R 2
What is the value o 9 7 — % \w
1/2
g= Nu cm nﬁ\ : 32
Kocnmmo...u
In triangle ABC, AB = 13 ¢m, AC = 12 cm and £B = 53°.
The size of £ G to the nearest degree is: 5
13 12
a) &0 < c
B '
b} g60° or 120° sn & . Sw 33 13
¢) @ﬁwmo _.W N g &Ere
' Sin 53
o a & T w3
dy gn47° or 133 KNG N - c
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Question 16
5 Granville Is 437 km from Wentworth on a bearing of 125°,
Rittown is 1080 km from Wentworth en a bearing of 084°,

Calculate the distance from Granville to Pittown to the nearest kilometre.

Distance = {312 | km (tgnearest km)
2% - g4

f

x*z 43 * 1 1096™ —2x 487 x 1090 Cos
RM)L& G o8 7.3z

L 281R 457602

M

.
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Question 17
Sam walks 4.5 km along a straight bush track, then tumns 40° and walks a further 3.8 km Ina stralght line.
How far is he from his starting polnt? .

Answer correct to 1 decimal pla

Distance from start = [7.% (to 1 decimal place)

* = 4.3 93,52 o 2.5 %3 X COS I
1% Co. 85571443
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